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The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

GROUP—A

( Marks : 21 )

1. Answer the following questions in one word or 

in one sentence : 1×2=2

t°∫π ö¯≈óÏ§‡ππ l°¸v°π &i¡à ≈¶ §‡ &i¡à §‡A°∏t° [É⁄‡ :

(a) Why is 14th July celebrated as the

National Day in France?

14 \Â∫‡“¸ [É>Ïi°‡ Û¯°‡Xt° \‡t°„⁄ [É> [“W°‡Ïö [A°⁄ ö‡∫>
A°π‡ “⁄?
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( 2 )

(b) Name the Russian Czar who said,

“Turkey was the sick man of Europe”.

ëëtÂ°π—HA° “¸l°¸Ïπ‡öπ πÁ°K„⁄‡ Î∫‡A°íí §Â[∫ π‡[·⁄‡π
ÎA°‡>\> \‡Ïπ ÌA°[·∫?

2. Answer the following questions in brief (each

within 20 words) : 2×2=4

t°∫π° ö¯≈óŒ≥Ë“π W°≥ÂÓA° l°¸v°π [É⁄‡ (ö¯[t°Ïi°‡ 20 ≈¶π
[Æ°t°πt°) :

(a) What were the principles that governed

the Vienna Settlement?

ÎA°‡>ÏA°“¸i°‡ >„[t°π *öπt° [Æ°Ï⁄>‡ A°}ÏN¯·π [Œá˝°‡îzÏA°“¸[i° 
ö¯[t°[À°t° "‡[·∫?

(b) Mention two demerits of the Treaty of

Versailles.

Æ°‡W¢°‡“¸ WÂ°[v°˚°π ÉÂi°‡ "‡ÏŒÚ‡Ø‡“ l°¸Ï¿J A°π‡°˙

3. Write short notes on any three of the following 

(each within 300 words) : 5×3=15

t°∫π [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ *öπt° W°≥Â Îi°‡A°‡ [∫J‡ (ö¯[t°Ïi°‡
300 ≈¶π [Æ°t°πt°) :

(a) Congress of Verona, 1822

ÎÆ°Ïπ‡>‡ A°}ÏN¯·, 1822

(b) Economic causes of the French

Revolution

Û°π‡W°„ [§ö√Øπ "=¢Ó>[t°A° A°‡πo
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( 3 )

(c) Metternich

Î≥i°‡π[>A°

(d) Rousseau

πÁ°W°í

(e) Continental System

≥“‡ÏÉ≈„⁄ §∏Ø—Ç‡

GROUP—B

( Marks : 21 )

4. Answer any three of the following questions

(each within 550 words) : 7×3=21

t°∫π [ô ÎA°‡Ï>‡ [t¡[>i¡à ö¯≈óπ l°¸v°π [∫J‡ (ö¯[t°Ïi°‡ 550  ≈¶π 

[Æ°t°πt°) :

(a) Analyze the character of the French

Revolution. Do you consider it to be a

bourgeois revolution?

Û°π‡W°„ [§ö√Øπ W°[πy öô¢‡Ï∫‡W°>‡ A°π‡°˙ &“¸ [§ö√ØA° ÎA°Ø∫ 
§ÂÏ\¢‡Ø‡ŒA°∫π á‡π‡ Î“‡Ø‡ [§ö√Ø §Â[∫ Æ°‡§‡Ï>[A°?

(b) Critically discuss Napoleonic reforms.

Î>Ïö‡[∫⁄>π Œ}—H‡πŒ≥Ë“π Œ≥‡Ï∫‡W°>‡uA° "‡Ï∫‡W°>‡
"‡K§Ïÿn°‡Ø‡°˙
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( 4 )

(c) What is ‘Concert of Europe’? How far was 

it successful in achieving its goal?

ëA°>W°‡i¢° "Ø “¸l°¸Ïπ‡öí ≥‡Ï> [A°? [>\π ∫¤°∏t° l°̧ö>„t°
Î“‡Ø‡π Î¤°yt° “¸ [A°≥‡>ÉËπ ŒÛ°∫ Ì“[·∫?

(d) Give an account of the Revolution of

1848 in France. What were its results?

1848 W°>π Û¯°‡Xt° Î“‡Ø‡ [§ö√Øπ &[i° [§Øπo [É⁄‡°˙
“¸⁄‡π Û°∫‡Û°∫ [A° "‡[·∫?

(e) Discuss the phases of the unification of

Germany.

\‡≥¢‡>„π &A°„A°πoπ [§[Æ°ƒ öô¢‡⁄ "‡Ï∫‡W°>‡ A°π‡°˙

H H H
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Paper : 5.6

[ History of China (1839–1949) ]

Full Marks : 42

Time : 2 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

GROUP—A

( Marks : 21 )

1. Answer the following in one word or in

one sentence each : 1×2=2

t°∫π ö¯≈óŒ≥Ë“π ö¯[t°Ïi°‡π l°¸v°π &i¡à ≈¶ §‡ &i¡à §‡A°∏t°
[∫J‡ :

(a) Name the first treaty signed between

China and Western powers.

W°„>ÏÉ≈ "‡πÁ° ö[∆W°≥„⁄‡ ≈[v°˚°Œ≥Ë“π ≥‡\t° —¨‡¤°[πt°
ö¯=≥ WÂ°[v°˚°J>π >‡≥ [∫J‡°˙

(b) Who is known as the Father of Chinese

Republic?

W°„>‡ Koπ‡\∏π [ötı° §Â[∫ A°‡A° \>‡ “⁄?
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2. Answer the following questions in brief : 2×2=4

t°∫π ö¯≈óŒ≥Ë“π W°≥ÂÓA° l°¸v°π [∫J‡ :

(a) What is Cohong?

ÎA°‡ “} [A°?

(b) Name two communist leaders of the

Long March.

∫} ≥‡W¢°π ÉÂ\> A°≥Â∏[>�° Î>t°‡π >‡≥ [∫J‡°˙

3. Write short notes on any three of the

following : 5×3=15

t°∫t° [É⁄‡Œ≥Ë“π öπ‡ [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ W°≥Â Îi°‡A°‡ [∫J‡ :

(a) Lorcha Arrow Incident

∫íW¢°‡ t°„π ö[πQi°>‡

(b) Hundred Days’ Reform

&≈ [É>π Œ}—A°‡π

(c) Sun-Joffe Declaration

W°‡>-Î\‡Û° ÎQ‡»o‡

(d) Chiang Kai-shek

[W°⁄‡} A°‡“¸-Î≈A°

(e) Second United Front

[át°„⁄ Œ[ñµ[∫t° ≥W¢°‡
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GROUP—B

( Marks : 21 )

4. Answer any three of the following questions :

7×3=21

t°∫t° [É⁄‡ ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ [t¡[>i¡à¹ l°¸v°π [∫J‡ :

(a) “The opium question was decidedly

subordinate to the broader question of

the establishment of political relations

with the empire.”

Critically analyze the cause of the

First Opium War in the light of the

above statement.

ëë[>[∆W°t°Æ°‡ÏØ "‡[Û°R°π ö¯≈óÏi°‡π P°πÁ°Œ Œ‡¥˜‡\∏π ∫Kt°
π‡\Ó>[t°A° Œ¥öA¢° ö¯[t°—Ç‡ A°π‡t°ÓA° A°≥ "‡[·∫°˙íí

l°¸v°˚° l°¸[v°˚°π "‡ã‡πt° ëö¯=≥ "‡[Û°R° ôÂá˝°íπ A°‡πoŒ≥Ë“
Œ≥‡Ï∫‡W°>‡uA°Æ°‡ÏØ [§—tı°t° A°π‡°˙

(b) Who were the T’ai-P’ings? Apart from

their deficient leaderships, what other

factors would you attribute to the failure

of their Rebellions?

i°‡“¸[ö}ŒA°∫ ÎA°‡> "‡[·∫? ÉÂ§¢∫ Î>tı°Œπ l°¸ö[π* "‡>
[A° A°‡πoŒ≥Ë“π §‡Ï§ Ît°*ÚÏ∫‡A°π [§Ïâ‡“ §∏=¢ Î“‡Ø‡
§Â[∫ tÂ°[≥ Æ°‡§‡?
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(c) Why did H. M. Vinacke say, “It is easy to

explain the outbreak of 1899–1900 in

terms of private as well as the public

relations of Christians, both native and

foreign, and the Chinese”?

What were the important results of the

Boxer Uprising?

&“¸W°. &≥. [Æ°>‡ÏA°“¸ [A°⁄, ëë1899–1900 J¯„@π
"ÆÂ°∏x‡>A° ÎÉ≈„⁄ "‡πÁ° [§ÏÉ≈„ J¯„�°‡> "‡πÁ° W°„>‡ŒA°∫π
§∏[v°˚°Kt°π ∫Kt° &ÏA°∫ÏK π‡\◊Ø‡ Œ¥öA¢°π "‡ã‡πt°
§∏‡J∏‡ A°[π§Ó∫ Œ“\íí §Â[∫ ÌA°[·∫?

§G‡π l°¸x‡>π P°πÁ°ŒöËo¢ Û°∫‡Û°∫Œ≥Ë“ [A° "‡[·∫?

(d) Bring out the changes effected by the

Revolution of 1911 in the history of

China. To what extent was it

successful?

W°„>ÏÉ≈π §Âπg„t° 1911 W°>π [§ö√ÏØ ŒËW°>‡ A°π‡
ö[πØt¢°>Œ≥Ë“ ÛÚ°[“⁄‡“¸ ÎÉJÂ*Ø‡°˙ “¸ [A°≥‡>ÉËπ ŒÛ°∫
Ì“[·∫?

(e) “The doctrine of ‘Three Principles of the

Peoples’ was the main interest of

Dr. Sun and contained the gist of his

mature philosophy.” Elaborate.

ëë ë\>Œ‡ã‡πoπ [t°[>i°‡ "‡É≈¢íπ t°wÏi°‡ÏØ“¸ l°0 ·‡>π
≥ÂJ∏ ≥>@Œ}Ïô‡K "‡πÁ° Ît°*Úπ ö[πöE° É≈¢>π Œ‡π≥≥¢
"‡[·∫°˙íí [§—zıt° A°π‡°˙

H H H
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